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TRIILY| 276.8 THEIELY | 250.3 JULY | 2390 TRIULY | 1230
BRALG, | 370,56 BRAE. | 256.1 BEANG, | 2371 SHADG. | 1231
GRSEFT] 270,31 O SEPT. 2478 BESEFT| 237.1 SASEPT.| 3.4
MECT. | 263,17 [0EOCT, | 248,10 108 0CT. | 237.9 [BHO0CT. | 136.]
T ROV | 2807 11BNo%, | 251.2 ILAKY. | 237.1 LEANGY. | L3B.d
128 OEC. | 263.7 12BDEC. | 254.4 12 DEC, | 2382 [2ADEC, | 13E.5
ElszEioss| 250 7| REEsefE1se? | 231 4 | RGO 197) | 23 3 | RE64 1975 | 135, |
18448 | 2810 TEJAN, | 2%4 .4 LAJAY. | 238.5 LB AN, | 1380
SEFEE. | 281.4 2EFER. | 2%0.3 TRAPLE. | 2366 THFEE. | 140.0
IANAL. | 257.5 JEMAR. | 251,10 1AL, | 2302 FBNAE, | 1403
LA LM 256,19 dBAPE. | 252.3 4R AFE 2305 4.8 4P 140.2
I 750 1 SHMAY | 253.4 5H A 2189 §H WAy 1384
GE JUNE | 286,97 BH JENE | 254.5 6HJUNE | 241.%2 68 JENE | 1387
TE Y| 2565 THJIELY | 2%2.1 7HMLY | 2415 THIELY | 1397
BEALG. | 25B.4 BE ARG, | 2548 BAALG, | 2394 B8R ATG 13E, §
GEEEPT) 2408 Q8 SEPT.] 250.7 SRSEPT.| 2IE.5 BHSEFT.| 13E.7
EacE, | 2485 108007, | 4B .4 leH0ct. | 235.0 108 0CT 137,97
118 koW 248 .7 LA NG, | 2403 LI HNDY, | 234.2 [LANOY. | 13B.1
128 [EC 148, 4 12HDEC, | 247 .8 17HDEC. | 233.% 12 H DR 138 3
ERE 1966 | 249 5| RESTE (960 | 2402 | RWa1EHE1572 | 228, | | BG5S (576 | 1354
TRIAN, | 2465 1A Jak, | 248.7 PR AN, [ 2301.5 LR Jaw 13€.4
TEFER, | 2422 PHFEN, | 24B.0 THFEN, | 230.1 2R FER 136 4
SR 2435 AEHMAE, | 2484 1A AT 218,8 KN T 13&.0
AAAPL. | 2498 ABAPE. | 2457 AR AFR, | 2306 48 \FR 135.5
R TE 250, | SHENAY | 245.3 SHEAT | 2304 A TE 1357
GFEIUNE | 258 66 JUNE | 245.5 &R JUSE [ 2304 GRJUKE [ 138 %
TEIULY| 2830 THINLY | 243.0 TRILY [ 231.0 TRILY | 135.0
BE G 253.7 AEAG, | 240.% B A LG 2270 BEAG. | 134.5
SESEFT] 247.7 oBSEFT] 240.4 9HSEFT.) 227.0 QREEFT.) 1346
WOROCT. | 246.5 1080cT. | 238.7 1080CT, | 2262 108 OCT 135 3
L1E ¥0¥ 281 .4 1IEEOY, | 24%2.0 1LA¥0T. | 22340 118 k0¥ 135.1
Iz B DEC 2550 12HDEC, | 243.89 12 A DEL 218.3 12HDEC. | 134.2
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CRETFSHERE SR AN HENS

At=k+—§
F 9 = M K & | i W - ) i ® E 1 o
BASE 1KDEX BiASE 1HBEX BASE _1NREX BiSE

EResT 1977 130,68 | REME 5] 85, 5] KMEY4E s a5, 5| RERE 05
TH LK. 1330 1 B JAN BE.5 1B JiN B87.3 18 J4N,
THEFED, 132.4 2HFEN. B5. 0 2H FEB. BT.¥ ZHFEE.
IBWiR. 132.1 IH AR B3 3 I ik A7 .8 JANAR,
4H AFE, 131.8 {8 LrR BS. 1 48 \FE. B& .0 48 ar.

SHHET 131 .H LE Y BS .4 5F HAY HE.T 5B WAY
GH STKE 13r.n EM JONE BS & 68 JEEE BE_T 6H JUXE
THIELT 13L.0 TR LY B5.E TH JOILY Ba_E THE JILY
HA AEC, 130.7 BR LG L | BA ADG. HA.© BA G,
O SEFT 13l % 9B SEPT. B5.0 QR SEFT, BE.# QB SEFT.
1A OCT 131. 108 T L L 1B OCT. 1 0B acT
118 K07, 132.7 1 1A oy BS. 4 11 F¥0%¥ B9 .4 [1RAF0Y.
L2 A bEC I32.3 1TA B £5.4 178 BEC BO & 128 BEC.

ERETE 1978 1271 | EETIE 1982 21560 BEEYSE 1086 #1.6 | EE@ g0

1H ik 131.0 L8 L% L 7 1B Jik. 50,1 1 H JiK,
TEFER. 1385 2H FER 5.7 2R FER 0.8 ZBAFLD.
JA LAR 138 .4 18 N1 S & JH HAE. gi.6 AR AR,
4 B APE. 1252 4H i B5.5 4H AFE .8 8 AFE.
SR LY 127.4 S8 KAT CE SENAY g9 SH LY
68 JUNE 127.7 6H JUKE BS. 4 6E JUVE 815 68 JUNE
THJOLY 1277 TH LY Bs .7 TH JuLY oL THJILY
BE AN 127.2 HA ilc ES .4 EF LG 91,k EHEAIG
9H5EPT, 126.% 98 SEPFT BS & #H SEFT n2.1 9F SEFT.
1A UCT, 125.2 IR GET BE.0 0B acT 91 .4 I0BOCT.
118 Kav i2i.3 118 5oy &5, A 118 507 2.7 LEH RaY
“\7H DEC IZ2. 1 1R BEC BE.1 1ZBDEC 2.7 12 H DEC.
EEeammere | 111,39 | EW728 1983 5.7 KR ESE 08T 94. 7| ERECT 199
PR AN 120.2 LHJa% BE & 1B JaK. 51,7 1§ Jax
TEFER 12w 1 28 FER BE_ 5 ZHEFLD, 015 IBFER
18 KAk Hr.7 J8 NAR B 0 T HAT . 3.7 IR EAR
48 AFE. 114.7 4 H AP BG B 18 LML 831.% AB PR
SHNAY 111, 4 S5E AT B SENAT 3.9 SR LAY
6H JTKE 112 6 b6 IUKE BE.7 68 JUNE LT EH JUNE
7H JILY 09 3 THJILY BE & TH LY .6 THJULT
HHATE, ing. ¢ ER LG BE.5 BERALG 85 0 BR AUEG.
o8 SEPT. I0H, & ¥H SEPT. EB.5 9H5ErT 5.5 OHSEPT
1A acT 91,5 188 6CY §6.5 1R GlT. 55,9 108007,
118 E0F (- - 11 H Kav Bh.g 11 8B NQY. 858 11A k0¥
128 DEC 104 .4 128 BEC BE.5 178 BEC. Gg._ 5 IZH DEC
i RsvE 950 9.0 | EEYIE 5 86, 2| EEYIE 1981 o6 2| EEA1E 1992
1A ik a7.T - HE 4 N:FI 07§ 18 JEE,
2R TFED a6 ¢ ZEFER BG_3 2R FED 87.5 2HA FEB
1H WA 058 JF AR BG D B AT 1.7 38 A
4B APrE. uh .1 4B iPE I 48 LPR 97.13 1B AFE.
S MAY 2.8 SR HLY E5 .7 LEELY g6 5 SR AT
68 JUNE a].5 &8 JUVKE &5 5 &8 JIKE o5 & EH JUNT
TH LY ¥1.§ THITLY BS54 TH JOLY g5, 4 THJuLT
EHAG. o0, BH MG BE.1 AH ARG, 85,1 BHE ADG.
SASEFT M| GHSEFT BE. & oA SEFT 85.1 58 SEPT.
IR Gt H& & D80T BE_ 6 10 A OcT 5.0 1IN/ OCT,
13 ANy BE_2 11 H KoY HE 8 116 w0¥. N 118 How,
128 BEC BT G 17 B DEC B7.0 128 BEC. G5 4 128 DEC,

ROTE: THL PRESENT FIGORES ARE CALCULATED O THEIR COXEESPONDING BASE PERIODS
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